



St. Louis County, Minnesota

Date of Report: 12/14/2025 2:03:51 PM

	General Details										
141-0050-05041	Ochoral Details										
	Legal Description De	etails									
HIBBING											
Town	ship Range		Lot	Block							
57	21		-	-							
SW1/4 OF NE1/4	EX W 366 FT OF S 366 FT										
Taxpayer Details											
MANNER WILLIA	M										
3819 MAPLE HIL	L RD										
HIBBING MN 557	746										
Owner Details											
	Payable 2025 Tax Sur	nmary									
2025 - Net Ta	•	•	\$174.00								
2025 Specie	A Aggagamenta		\$0.00								
			<u> </u>								
2025 - Tota	al Tax & Special Assessm	ents	\$174.00								
	Current Tax Due (as of 12	2/13/2025)									
5	Due November 1	5	Total Due								
\$87.00	2025 - 2nd Half Tax	\$87.00	2025 - 1st Half Tax Due	\$0.00							
\$87.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$90.48							
\$0.00	2025 - 2nd Half Penalty	\$3.48	Delinquent Tax								
\$0.00	2025 - 2nd Half Due	\$90.48	2025 - Total Due	\$90.48							
	Town 57 SW1/4 OF NE1/4 MANNER WILLIA 3819 MAPLE HIL HIBBING MN 55: MANNER DAIRY 2025 - Net Ta 2025 - Specia 2025 - Tota \$87.00 \$87.00 \$0.00	Township Range 57 21	Township Sange 57 21	HIBBING Township Range Lot 57 21 7							

Parcel Details

Property Address: School District: 701
Tax Increment District: -

Property/Homesteader: MANNER, MICHELE

	Assessment Details (2025 Payable 2026)											
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity					
104	1 - Owner Homestead (100.00% total)	\$30,200	\$77,300	\$107,500	\$24,600	\$0	-					
124	1 - Owner Homestead (100.00% total)	\$14,100	\$2,600	\$16,700	\$0	\$0	-					
Total:		\$44,300	\$79,900	\$124,200	\$24,600	\$0	594					





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:03:51 PM

Land Details

Deeded Acres: 36.92 Waterfront: Water Front Feet: 0.00 Water Code & Desc: Gas Code & Desc: Sewer Code & Desc: Lot Width: 0.00 Lot Depth: 0.00

The dimensions shown are not guaranteed to be survey quality. Additional lot information can be found at

https://apps.stlouiscountymn.gov/webPlatsIframe/frmPlatStatPopUp.aspx. If there are any questions, please email PropertyTax@stlouiscountymn.gov.

	improvement i beta	AIIS (WEST DAK	ano)	
Year Built	Main Floor Ft ²	Gross Area Ft ²	Basement Finish	

Improvement Type	provement Type Year Built		Floor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
BARN	1910	1	2,340	12,340	-	=
Segmen	t Story	Width	Length	Area	Founda	tion
BAS	0	30	20	600	FLOATING	SLAB
BAS	0	32	90	2,880	FLOATING	SLAB
BAS	0	50	120	6,000	POST ON G	ROUND
BAS	0	52	55	2,860	POST ON G	ROUND
DKX	0	0	0	930	POST ON G	ROUND
LT	0	16	16	256	POST ON G	ROUND

Improvement 2 Details (E	EAST BARNS)
--------------------------	-------------

I	mprovement Type	Year Built	Main Flo	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
	BARN	1938	18,0	76	18,076	-	=
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	0	24	32	768	FLOATING	SLAB
	BAS	0	40	238	9,520	POST ON G	ROUND
	BAS	0	66	118	7,788	FLOATING	SLAB
	LT	0	14	64	896	POST ON G	ROUND

Improvement	•	D-4-! -		
Improvement	- 4	PILETALL	<i>(</i>	SICKI

lm	provement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
POLE BUILDING		1986	2,56	60	2,560	=	-
	Segment	Story	Width	Length	Area	Foundati	on
	BAS	0	40	64	2,560	POST ON GR	ROUND

Improvement 4 Details (HAY SHED)

ı	mprovement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
STORAGE BUILDING		1982	4,80	00	4,800	-	-
	Segment Story		Width	Length	Area	Foundat	ion
	BAS	1	40	120	4,800	POST ON GF	ROUND

Improvement 5 Details (SILOS)

	Improvement Type	Year Built	Main Fig	oor Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc
S	TORAGE BUILDING	1980	1,40	00	1,400	-	-
	Segment	Story	Width	Length	Area	Foundat	ion
	BAS	0	20	70	1,400	POST ON GF	ROUND





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:03:51 PM

		Improveme	nt 6 Details (O	LD GARAGE)			
Improvement Typ	e Year Buil	t Main Flo	oor Ft ² Gross	s Area Ft ² Bas	sement Finish	Style (Code & Desc.
GARAGE	1930	64	0	640	-	DE	TACHED
Segme	ent Sto	ry Width	Length	Area	Founda	tion	
BAS	1	20	32	640	FLOATING	SLAB	
		Improveme	ent 7 Details (E	BY OLD HSE)			
Improvement Typ	oe Year Buil	t Main Flo	oor Ft ² Gross	s Area Ft ² Bas	ement Finish	Style (Code & Desc.
STORAGE BUILDII	NG 0	32	0	320	-		-
Segme	ent Sto	ry Width	Length	Area	Founda	tion	
BAS	0	16	20	320	FLOATING	SLAB	
		Sales Reported	to the St. Lou	is County Audito	r		
No Sales informa	ation reported.			•			
	·	Δ	ssessment His	story			
	Class	2.0			Def	Def	
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity
	104	\$36,400	\$90,900	\$127,300	\$30,000	\$0	-
2024 Payable 2025	124	\$7,900	\$3,000	\$10,900	\$0	\$0	-
·	Tota	\$44,300	\$93,900	\$138,200	\$30,000	\$0	660.00
	104	\$36,400	\$90,900	\$127,300	\$29,800	\$0	-
2023 Payable 2024	124	\$7,900	\$3,000	\$10,900	\$0	\$0	-
	Tota	\$44,300	\$93,900	\$138,200	\$29,800	\$0	659.00
	109	\$32,400	\$62,500	\$94,900	\$26,600	\$0	-
2022 Payable 2023	129	\$6,900	\$2,100	\$9,000	\$0	\$0	-
	Tota	\$39,300	\$64,600	\$103,900	\$26,600	\$0	981.00
	109	\$32,400	\$56,100	\$88,500	\$26,600	\$0	-
2021 Payable 2022	129	\$6,900	\$1,900	\$8,800	\$0	\$0	-
	Tota	\$39,300	\$58,000	\$97,300	\$26,600	\$0	915.00
		1	Tax Detail Hist	ory			
Tax Year	Tax	Special Assessments	Total Tax & Special Assessments	Taxable Land M	Taxable Buil V MV		al Taxable MV
2024	\$154.00	\$75.00	\$229.00	\$37,700	\$93,900		\$131,600
2023	\$1,630.00	\$0.00	\$1,630.00	\$33,500	\$64,600		\$98,100
		A					*

2022

\$1,584.00

\$0.00

\$1,584.00

\$33,500

\$58,000

\$91,500





St. Louis County, Minnesota

Date of Report: 12/14/2025 2:03:51 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.